Apartment in Hamrun



Reference No: 240351001-60321

Hamrun, Central



€230,000

Total Rooms: 6

Bathrooms: 2

Floor Area (m²): 105

₽☐ Bedrooms: 3

Apartment - For Sale - Hamrun

Hamrun - New development, to be sold on plan, ground floor apartment, apartments and penthouses. All units will be ready built by June 2024 and finished excluding bathrooms and doors by December 2024. These properties are suitable for first time buyers and rental investments. Freehold.

Features

- Gypsum Plastering
- Double Glazed

- Passenger Lift
- Balcony

Rooms

✓ Kitchen/Living/Dining: 7.85 x 6 m (47.1 m2)

✓ Double Bedroom : 4 x 3.8 m (15.2 m2)

✓ Double Bedroom : 3.3 x 3.9 m (12.87 m2)

✓ Bathroom : 3.2 x 1.7 m (5.44 m2)

Bathroom Ensuite : 3.25 x 1.2 m (3.9 m2)

Double Bedroom : 2.1 x 3.6 m (7.56 m2)

Gallery





RE/MAX Malta - BDV Sales RE/MAX Malta - BDV

M: 22471300

E: bdv@remax.com.mt

T: 22471300

RE/MAX Malta - BDV

29, Realco Building, Level 1, ,Achille Ferris Street , Msida, Malta